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Classification by Relevance

Starlite Brewery has actual monthly sales of $24 million on 600,000 barrels
of beer. Total costs arc $17 million for direct materials, direct labor,
ovethead, marketing, and distribution. Another $2 million is also included for
the cost of machinery bought last year. A client wants to buy 250,000
barrels of a product this month, which will result in $12 million in additional
sales and in total projected revenues of §36 million. The order would also
result in $8 million in additional costs, or $25 million total projested costs.
Should the company acespt the order? Click the steps on the graphic to
leam more. Click again to close the text box that appears.

1. :Iassify elevant costs.

differential costs. 1
3.Betermife differential reVeRues:

4l etermi’le differentialnet revenue.
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Classification by Relevance

Which costs arc relcvant? Sclect all that apply.

potential cast of reassigning employees

overhear

direct labar

direct materials

ANANANAN

equipment

distribution

<

because it has already been paid for

‘Actually, direct materials, direct labor, overhead, distrioution, and
the potential cost of reassigning empioyees are the relevant casts
The cast of the equipment purchased last year is not relevant

Select each answer chaice for specific feedback.
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Classification by Relevance

‘What is the differential cost? Select the best answer.

$631,000
$766,000
$135,000
($135,000)

omomE

In fact, the differential cost equals the higher relevant cost of the
two options minus the lawer relevant cost of the two options.
$766,000 - $135,000 = $631,000

Select each answer chaice for specific feedback.
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Classification by Relevance

‘What is the differential revenue? Select the best answer.

(1 millian)
$0.5 milion
($3.5 millian)
$9.5 millon

omomE

Actually, the differential revenue equals the higher revenue of the
two opfions minus the lower revenue. $5 milion - $4.5 milion = $0.5
million

Select each answer chaice for specific feedback.
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Classification by Relevance

Based on the costs in the proposal, should Mary accept the order? Selcat the
best answer.

No, because the costs are greater than the projected revenues
es, because the differential net revenue is a negative result

No, because the offer is greater than the cost of manufacturing the
units

es, because the revenues from the arder are greater than the
costs

O OomE

Actually, the differential net revenues equal the total differential
revenues minus total differential costs. $500,000 - $631,000 =
(§131,000). Because the net difference is a negative number, Mary
should no take the order

Select each answer chaice for specific feedback.
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missed if scrapped.

Understanding

In order for Mary to make the right decision, she needed to understand
differential costs and revenues. Despite the glaring losses faced by the
fashion watch linc, Mary's calculations show that the linc, notwithstanding
its losses, makes a contribution to the company’s revenues that would be
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[image: image7.png]For the purpose of making decisions, the concepts of relevant costs,
differential costs, differential revenucs, and differential net revenucs arc of
vital importance.
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Cost Accounting Concept

match examples of specified costs according to their function

Learning Objective:
After complating this topic, you should be able to

Topic Type: Instruction

You have nottaken a test for this topic.
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Bridgctte is a new manager of a golf club manufacturing company. She is
reviewing the company’s income statement and balance sheet. She is having
a difficult time understanding the difference in the treatment between
advertising costs and the cost of stecl on th financial statements. Why arc
these costs classified differently?
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Costs are entered as expenses on income statements at the point where the
cost produces a benefit such as revenuc or when a servics is provided.
Sometimes, a one-time cost produces a one-time benefit, like the revenue of
a part used in a product, This cost is entered as an expense in the income
statement, But, if a single cost resulfs in a benefit lasting multiple periods,
the cost is recorded over multiple periods, too. For example, if you propay
insurance for a two-year term, you have to split the costs over the two-year
period in the statement.

The procedure is based upon the
matching principle. Under the matching
principle, costs are defined by their
function as cither product costs or
period costs. Understanding product and
period costs will help you to better
understand your company’s bottom linc
as cxplained in income statements.
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Classification by Function

s the following statement tru, or false?

When a cost is incurred in manufacturing a product, it is expensed only
when the product is sold.

v e
[ false

Actually, accarding to the matching principle, costs are expensed
only when the benefit is incurred

Select each answer chaice for specific feedback.
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Costs

Product costs arc those direetly involved in acquiring or making a produt.
The following arc the three main categories of product costs:

© direct materials
© direct labor
manufacturing overhead.
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Direct materials are all materials that can be physically and conveniently
traced to a product. This refrs to any materials dircatly used in the
manufacturing of a product. This includes items such as steel in an
automobile or silicon used in the manufacture of a microchip.
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Direct labor is labor costs that can be casily traced to a product. This
means labor used specifically for the manufacture of a specific product.

This type of cost includes the assembly line workers in a car factory or a
welder in a shipyard.
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Manufacturing overhead consists of
all the costs of manufacturing a product
other than direct materials and direct
labor. This typically refers to costs of
cquipping and administering
manufacturing services in a company.
Tt does not include the general expenses
of the overall company. Click the
graphic to sec cxamples of
manufacturing overhead costs.

Manufacturing overhead
includes costs in running a
factory such as photocopy
paper for the manager's office,
factory rent, and telephone
service fees. It may also include
cquipment used in
manufacturing, such as tools.

Manufacturing
Overhead
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Classification by Function

Adam is a manager with LogiStar, a shipping technology manufacturing
company. He is preparing a report regarding product costs in his department.
Match the different cost categorics to their corresponding cxamples by
dragging the letters on the loft to the boxes on the right.

[A] direct labor

direct materials

© [ the cost of purchasing robatic welding machines

A [7] the cost of warker overtime in producing the
tracking devices

manufacturing overhead & [7] the cost of purchasing silicon chips for the tracking

devices

Actually,
close in
product

 while manufacturing overnead and direct materials are

nature, only direct materials hecome part of the finished

Select each answer chaice for specific feedback.
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Classification by Function

Period costs include all of the costs that are not included in product costs.
These costs are expensed on an income statement in the period in which
they arc incurred. Period costs are not included as part of the cost of
purchased or manufactured goods; they are considered overhead that is
required in order for the production to b possible. Period costs commonly
include things like salcs commission, office rent, and other general building
cxpenses that are not included as part of the cost of purchased or
manufactured goods.
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Classification by Function

Accent Boots purchased a cowboy boot manufacturing company. Tts new
project manager necds to do an assessment of the division. There are a
number of costs that he must classify before he can assess them: orders for
300 units of leather and 400 gallons of gluc, a bill for an ad in a national
magazine, and the purchase of a new accounting information system. How
should these costs be classified?

The leather and the glue arc used in the
manufacturing of boots and arc therefore
product costs. The magazine ad and the
new accounting information system arc
not eritical to the manufacturing process,
so they arc period costs.

AL

BOOTS
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Classification by Function

Ryan is a manager with Savage Guitars. He has been asked to propare
financial statements to assist the company in applying for new financing.
Which of the following are produst costs and which are period costs?
Classify the following costs by matching the category on the left to the
cxamples on the right. Each letter may be used more than once.

[A] period costs A [7] the cost of the national ad campaign launched for
the new line of guitars
product costs & [7] the cost of the pearl insets far the guitar line

& [ the cost of the chief tester's salary

A [7] the cost of employee safety training

Actually, the cast of the national ad campaign and the safety
training are the only period costs. The others are expenses relating
ta the manufacture of the product

Select each answer choice for specific feedback.
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Classification by Function

To properly classify Savage Guitars' costs by function, Ryan would have to
determine which costs arc vital to the cost of manufacturing the company’s
products, and which costs arc more indirectly related to the overall goals of
the company. While the advertising campaign and training would be helpful
to the company, they arc not dircetly related to the cost of manufacturing
the product.
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Understanding
Period Costs
and Product

Costs

Understanding period and product costs will help you to understand your
financial statements and ultimately make more informed decisions for your
company.
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You have nottaken a test for this topic.

Learning Objective:
After complating this topic, you should be able to

recognize the benefits of understanding managerial accounting
approaches.

Topic Type: Overview
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Managerial Accounting
Principles

In this fast-paced world, you need to be able to compete not just with the
shop across the strect, but with all of the shops in the world. Are you ready
for this challenge?
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Managerial Accounting Approaches
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Today's global ceonomy is affecting the way companies manage their
business activitics. New approaches have become necessary because of
increased competition and changing customer needs. Therefore, the modern
corporation needs to focus on quality, flexibility, and on-time delivery.
Management must continually look for ways to improve performance. This
is known as continuous improvement. The following are threc approaches
that managers usc to improve their companies' performance:

~ Total Quality Management (TQM)
© Just-in-time (JIT) Management
“ Theory of Constraints (TOC)
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This lesson will cxplain these threc managerial accounting approaches in
greater detail.

By taking this lesson and understanding managerial accounting approaches,
you will be able to help improve your company’s competitiveness and
ultimately its profits through the continuous improvement of your processes.
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Managerial Accounting Approaches

Steve is a new manager with Interconnost Telecorp, a multinational
telecommunications company. He was recognized for some good ideas he
had about improving the company’s manufacturing systems. His idcas came
from working closely with production workers. Now that he's in
management, he'll have to discover other means of finding ways to improve
the competitiveness and profits of the manufacturing operation. How do you
think he can do this?

By studying managerial accounting
theorics, Steve can learn new ways of
continually improving the company’s
processes. This will help him to improve
his company’s compeitiveness and
profits.
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Which phrase best cxplains the benefit of lcaming about managerial
accounting approaches? Seloct the best answer.

[T Itenables you to help improve your company's competitiveness

and morale
[T Itenables you to improve your company's competitiveness and
image
v [0 itenanles you ta help imprave your company's competitiveness
and proits

[T Itenables you to improve your company's revenues and profits.

Actually, Increasing your company's competitiveness will lead to
increased profits

Select each answer chaice for specific feedback.
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You can systematically improve your company’s performance to stay
competitive in this growing world marketplace. This lesson will give you
some of the tools to pull ahead of the competition.
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Managerial Accounting Approaches

You have nottaken a test for this topic.

Learning Objectives:
After complating this topic, you should be able to

identiy examples of the phases ofthe plan-do-check-act cycle for total
quality management.

apply the plan-do-check-act cysle fortotal qualty management to solve a
problem in a given scenario

Topic Type: Instruction with RolePlay
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Quality

is
never
an
accident.

Victorian artist, seientist, post, cnvironmentalist, and philosopher John
Ruskin said, "Quality is never an aceident, it is always th result of intelligent
cffort.” This topic will cxplain how you can increase the quality of your
products.
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Total Quality Management

Total Quality Management (TQM) is based on having all managers and
cmployess strive toward higher quality standards to offer customers the
quality they require. These higher quality standards extend to their daily
work and to the products and services offered to customers.

Management

For a TQM system to work, the culture of a company must change. TQM
companies expect quality to be inspected through every process. They use
incentives, rewards, and policies to encourage employee participation.
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Swiss Watch Corporation wants to convert its production linc to a TQM
inspection system. The company is implementing TQM on a trial basis for
one product linc, a fashion watch for businessmen. On this linc, there arc 25
cmployees-15 of them assemble the watches, 5 are quality assurance
inspectors, 3 arc supervisors, and 2 are managars. Click the terms on the
graphic to learn what steps were taken to implement a TQM system. Click
again to make the text box disappear.

Managers put in place incentives
for workers to report waste in
the produstion process. They
also implemented a zero-defoct
policy at every level of
production and administration.
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Total Quality Management
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Swiss Watch Corporation wants to convert its production linc to a TQM
inspection system. The company is implementing TQM on a trial basis for
one product linc, a fashion watch for businessmen. On this linc, there arc 25
cmployees-15 of them assemble the watches, 5 are quality assurance
inspectors, 3 arc supervisors, and 2 are managars. Click the terms on the
graphic to learn what steps were taken to implement a TQM system. Click
again to make the text box disappear.

The workers no longer look at
quality as "someonc else’s job.” :
They follow checklists and sign Practice
them off after every stage of
production. Also, the workers
now submit ideas about
improving quality and cfficiency
on a regular basis.

CIE)

Shstart]|| @ @ G || Ginbox .|

e R (9(D @) (D)

0 0p.. | ElHome ...|[E]skills.. ElManag..| (@RI E U o MY ZE eseam



[image: image34.png]SkillS~ft

Total Quality Management

===
) )

Swiss Watch Corporation wants to convert its production linc to a TQM

inspection system. The company is implementing TQM on a trial basis for

one product linc, a fashion watch for businessmen. On this linc, there arc 25

cmployees-15 of them assemble the watches, 5 are quality assurance

inspectors, 3 arc supervisors, and 2 are managars. Click the terms on the

sranhic to learn what steps were taken to implement a TQM system. Click
5t box disappear.

The quality of the watches has
increased dramatically. The
requirement for overtime has
decreased and three workers
were moved to the assembly
line duc to lack of quality
concerns. The costs associated
with production have deereased
markedly.
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Total Quality Management

Which of the following might managers use to promote TQM in their

organization? Sclect all that apply.

abonus plan for warkers reducing defects at any level of %
production

a checklist that emplayees must follow and sign as they %
complete a task

a policy that states that every employee is responsible for %
quality

rests with inspectors

a policy that states that most of the responsiailty for quality

Actually, policies and incentives that encourage increasing
responsiblity for quality at every level promote TQM. The Idea of
final inspection being the anly test for quality does not suppart

Tam

Select each answer chaice for specific feedback.
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ChBck
Tihe Plan-do-check-act Cycle

How do employees solve problems systematically in an organization?
Companies may have several approaches to systematically solve problems,
but one of the most popular is the plan-do-check-act (PDCA) cycle.
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When a company has identified a problem in its processes, the PDCA is a
tool used to determine the root of the problem and develop a plan to solve it.
The PDCA eyele is a systematic, fact-based approach to continuous
improvement.

This cycle is a problem-solving tool that is widely used by companics using
TQM methods and that applics the sicntific method to problem solving.
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Total Quality Management

The plan phase of the PDCA cycle involves forming a TOM team to study
the identificd problem. The tcam must include managers and cmployees
with a good knowledge of the processes affected by the problem or who
have particular technical expertise. Techniques such as brainstorming and
interviewing can be used to come up with theorics as to what is causing the
problem. The team must then come to a consensus as to the root of the
problem and the best plan to solve it.
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DeBeyer Systems has a number of lumber processing plants in North
America. Currently, it is cxperiencing high absentecism in onc of its
divisions. The company decides to use the PDCA cycle to solve the
problem. Click the graphic below to learn how they apply the planning phasc
to the problem of absentecism.

The Plan-do-check-act Cycle

/Plan\

A team is formed to solve the

ACt Ll roblem. The members

interview a selection of workers

and record their ideas. Most
Check e eyt e

due to excessive overtime, The

team develops a plan to bring in
floaters to avoid overtime.
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Total Quality Management

Savage Guitars is experiencing problems with its junior acoustic guitar
production line. The line is producing at a much lower ratc than similar lins.
How can the company apply the planning phase of the PDCA cyele to solve
the problem? Select all that apply.

Form a comrmittee composed of line warkers, engineers,
and inspectars and develop the best strategy.

Brainstorm to come up with possible causes of the problem

Develap a theory to explain why the machines' calibration
may be off.

Interview the warkers on the junior acaustic guitar
production line in order to gather information

Assign line inspectars to re-create the problem

Gather infarmation from all areas of the company and
submit a report

ANERSANERN

In fact, Savage Guitars can apply the planning phase of the PDCA.
cycle by forming a committee to brainstorm for possible causes and
develap a strateqy, interviewing the right people for information,
and developing a theary that can be tested

Select each answer chaice for specific feedback.

@ @ Page 90 18 % ;:vn::::ovv 0 @ ‘@wmpaie \9

dstart ||| & @ G || Dinvox...| Elbo op... | &Home .. [k

pions..| [@EDHY x MDD E osram




[image: image41.png]SkillS~ft e VIO)

Total Quality Management

To complete the do phase, the team conducts mathematical experiments to
test the sclected theory. These experiments are customized to the problem,
and if they arc successful, the tcam moves on to the check phase. In this
phase, the team tests the plan on a sample of the process.

In the act phase, the tcam assesses the succass of the theory in practice. If
successful, the plan is fully implemented. If the results are not favorable, th
problem-solving team goes back to the original data and starts over again.
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DeBeyer Systems continues to investigate the high absentecism in one of its
divisions. Follow how the company completes the PDCA cycle.

DeBeyer

Systems
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DeBeyer Systems continues to investigate the high absentecism in one of its
divisions. Follow how the company completes the PDCA cycle.

Do The team drew Up a new work schedule to bring in floaters from
another similar procuction Iine ta pick up the extra hours. On
paper, it appeared to solve the problem of overtime:

Check The team tried this approach an a single unit and it appeared ta
wark. The feedback the team recelved from the workers in the unit
indicated that they were less stressed and happier when coming
to work each day
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DeBeyer Systems continues to investigate the high absentecism in one of its
divisions. Follow how the company completes the PDCA cycle.

Selectto
Continue

Act The team introduced its new plan in a policy that required all
managers to coordinate working hours so that any worker on
downtime would switch procuction lines to eliminate overtime. As a
resul, the absenteeism rate dropped by 50%. - End -
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Savage Guitars continues to investigate the problem with the junior acoustic
guitar produstion linc. The planning phase has been done. How does the
company complete the PDCA cycle? Select all that apply.

The cammittee changes the input volumes on all Ines in the; %
campany.

The cammittee asks workers aboLt their assessment of siow
production machines

The cammittee waits for warkers ta report new problems in

production

The cammittee conducts an experiment to see i limiting the %
amaunt of product improves the praduction rate

The cammittee applies ts theary on a single line, and the %

rate of production increases

Actually, after developing a strategy In the planning phase, the
campany would then simLlate the strategy, apply the strategy on a
sample basis, and then fully implement the strategy. This fallaws
the PDCA cycle

Select each answer chaice for specific feedback.

@ @ Page 150118 % i © @ ‘@wemaie o)

Sstort||| @& B &) || Bhtobox .| Elhe 0p.. | Elome . [Eistats.. | Wttonag..| [GBBE U MAS Y@ osaan




[image: image46.png]hohur: 12;
SkillS~ft ghohur: 1202 P
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You are the new TQM manager of GraphTek, a e
computer hardware manufacturer. You have =
cight years of experience in quality management
at a previous company. Members of the
exeoutive team have contacted you regarding a
problem in the compact disc writer
manufacturing department. They told you that
the production rate of this department isn't as
high as the rate in other departments in the
company. You are to lead the team in finding
the problem and solving it.

=)

[Enter Expiore| Enter Score
‘Mode HMode
Enter Explore Mot totry ailthe possibe options. Enter Score Mode to test you own performance.
(without being scorec)
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You put together a team to help you address the —

problem. The team consists of managers, = =
supervisors, and workers. Your main contact is
Shelley, a supervisor in the department. You'll
be meeting with Shelley and Osear, the
exceutive in charge of quality issucs. Oscar is an
expert in TQM. You and Shelley are to report
your findings to Osear at the end of the process.

The cxecutive team has told you that the
solution will be considered successful if it
achicves a 15% improvement in productivity. =

[Enter Expiorel Enter Score
‘Mode HMode

Enter Explore Mot totry ailthe possibe options. Enter Score Mode to test you own performance.
(without being scorec)
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Total Quality Management

"Hello. Have you come up
with a theory of what the
problem is yet? If so, what
arc you going to do? Time is
really important in this
matter."

[ifigured it out. It's under contral

[ 11 have some ideas about the problem and how to
fix it 1l get the team to help me carry them

through

[ 11 have e-mailed some solutions ta the team and
we're going to get together to discuss them
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"That's good. Those
employees on your team are
a great resource. Go meet
with Shelley and get the
process started.”

[ifigured it out. It's under contral

[ 11 have some ideas about the problem and how to
fix it 1l get the team to help me carry them

through

have e-malled some soltions to the team and
re're gaing to get together to discuss them

planning.

Right. Taking advantage of the resources
available to you Is the key ta successful

CIE)
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Total Quality Management

"Good idea. Let's be pretty
sure that thes changes will
work before making any big
expenditures. Tl go to my
computer and run the
numbers and get back to the
team.”

helley, let's think aboLt this theory for a while
Can yol ook at the current stats and figure out
how much time these floaters wil save?

[IIthink so tog, but let's get some mare ideas
together befdre moving on

[]Let's save the company some time and money
and put the crews in there ASAP. You guys know
that department better than anyone.

Very good. The da phase invalves conducting a
simulation of the theory on paper befare
applying it
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Total Quality Management

"That sounds reasonable.
Trying it on the onc line
should give us a good
indication of how the others
will be affocted. Il get the
team together and we'll go
do that.”

[7]1 don't want to rush into this If the results vary a

bit. Let's ga hack to the drawing board.
think we should try it an one flow line. We can
bring some extra workers from anather
department

[]1 think it work great. | have some warkers lined

up to start the new program in the department
right away.

Right. In the check phase, the theary Is applied
on a small scale
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Total Quality Management

"While it doesn't meet the
team's expectations, it
surpasses the company's
requirements, so I agree. Il
go tell Oscar right away.”

[T]we thought that we could hit 25%. Let's try
samething else, and if t doesn't work, we'll use
this idea

[CILet's try it on a different fiow line for another week
or two to see If those results are any different

say that we should recommend that the idea be
implemented department wide

Very good. The theary met the company's
minimum 15% SUCCess rate. Therefore, in the
act phase, the theary should be fully
implemented
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"Good job! You solved the
problem in record time. The
department is really
productive now, and the
exccutive team is really
confident in your quality
management abilities.”
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e the
PDCA properly

By using the PDCA properly, you can avoid the pitfalls of normal problem
solving in companics. Instead of going with your gut feclings about a
problem, brainstorm with the well-qualified team members and bencfit from
their knowledge and experience.
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[image: image55.png]TQM principles and processes will help your organization to become more
cfficient and suceessful by solving problems using the scientific method
contained in the PDCA.
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You have nottaken a test for this topic.
Learning Objectives:
After complating this topic, you should be able to

identity sxamples of the elements of a just-in-time management system

apply the four elements to implement 3 just-in-ime management system
ina given scenario

Topic Type: Instruction
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Henry's company ineurs high costs and maintains a large inventory. The
company struggles to compete with its competitor's pricing and delivery
times. How does the competitor operate more cfficiently than Henry's
company? The competitor uses just-in-time (JIT) management.
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Just.in-time Management

ATIT system can be described as a system to produce and deliver finished
goods just in time to be sold, subassemblics just in time to be assembled into
finished goods, and purchased materials just in time to be transformed into
fabricated parts. Under a JIT system, a company acquires or produces
inventory only when needed to satisfy actual customer demand.
Traditionally, manufacturing companics kept large inventorics to most
projected customer demand.

This resulted in increased costs for
inventory storage and ticd up a large
portion of a company’s capital. Under a
JIT system, companies strive to have
minimum or zero inventory to free up
working capital and decrease storage
costs and space. Throughput time s also
reduced.
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Although there are a number of advantages to using a JIT system, not every
company can use a JIT system. Click the numbers on the graphic to learn

about the potential disadvantages of a JIT system. Click again to make the
text box disappear.

Ifany of your suppliers is
having difficulty in mecting
orders, you will have to shut
down your production until the
supplier is back up.
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text box disappear.

For this system to work, a great
deal of planning must take place
to ensure that every aspect of a
company’s process works at
peak cfficiency and quality.
This is very labor intensive.

Potential Disa

Although there are a number of advantages to using a JIT system, not every
company can use a JIT system. Click the numbers on the graphic to learn
about the potential disadvantages of a JIT system. Click again to make the

vantages
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How suited is your company to a JIT system? Rate your company on the
following scale.

o] o] o] o] o]
B )

notwell suited  possibly suited neutral probably  verywell suited

While nat applicable In exactly the same way In all companies, JIT
principles can be modified to it almost any situation
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Just.in-time Management

The following arc four clements that must be applicd to properly implement
a JIT system:

~ Improve plant layout.
 Reduce the setup time required for production runs.
© Strive for zero defects.

“Develop a flexible workforce.
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Just.in-time Management

TradFurniture is a traditional manufacturing company. In recent years, the
company has encountered global competition and fecls the necd to use morc
cutting-cdge manufacturing methods to stay relcvant. The company
cxecutives hired a consultant to cvaluate their company and offer
suggestions related to improving its performance. The consultant offered
them four suggestions relating to the four essential clements of JIT. Click the
terms on the graphic to scc what the consultant suggested. Click again to
make the text box disappear.

Plant Setup
Layout Time
DZfero WFIe')((fibIe
efects orkforce
R ‘
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TradFurniture is a traditional manufacturing company. In recent years, the
company has encountered global competition and fecls the necd to use morc
cutting-cdge manufacturing methods to stay relcvant. The company
cxecutives hired a consultant to cvaluate their company and offer
suggestions related to improving its performance. The consultant offered
them four suggestions relating to the four essential clements of JIT. Click the
terms on the graphic to scc what the consultant suggested. Click again to
make the text box disappear.

Plant
Layout The consultant suggested that
the machines be placed closer
together by 15 feet. That would
Zero minimize the time used to move
Defects the partially finished products

from unit to unit.
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TradFurniture is a traditional manufacturing company. In recent years, the
company has encountered global competition and fecls the necd to use morc
cutting-cdge manufacturing methods to stay relcvant. The company
cxecutives hired a consultant to cvaluate their company and offer
suggestions related to improving its performance. The consultant offered
them four suggestions relating to the four essential clements of JIT. Click the
terms on the graphic to scc what the consultant suggested. Click again to
make the text box disappear.

Plant
Layout The consultant suggested
creating checklists for every
process that must be completed
Zero and signed off to ensure top
Defects
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Just.in-time Management

TradFurniture is a traditional manufacturing company. In recent years, the
company has encountered global competition and fecls the necd to use morc
cutting-cdge manufacturing methods to stay relcvant. The company
cxecutives hired a consultant to cvaluate their company and offer
suggestions related to improving its performance. The consultant offered
them four suggestions relating to the four essential clements of JIT. Click the
terms on the graphic to scc what the consultant suggested. Click again to
make the text box disappear.

The consultant suggested
‘moving the raw wood closer to Setup
the beginning of the flow line to Time
reduce the fime it takes to

transport the wood.

DZfero WFIe')((fibIe
efects orkforce
R ‘
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Just.in-time Management

TradFurniture is a traditional manufacturing company. In recent years, the
company has encountered global competition and fecls the necd to use morc
cutting-cdge manufacturing methods to stay relcvant. The company
cxecutives hired a consultant to cvaluate their company and offer
suggestions related to improving its performance. The consultant offered
them four suggestions relating to the four essential clements of JIT. Click the
terms on the graphic to scc what the consultant suggested. Click again to
make the text box disappear.

The consultant suggested giving
the workers training to fix the Setup
machines that they operate. Time
This would reduce the need for
maintenance workers and save

time and money. P WFIe')((fibIe
efects orkforce
R ‘
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Which of the following are examples of the clements of a JIT system? Seloct
all that apply.

Train warkers ta be able to increase praductivity at their
particular unit

Make employees responsiale for inspecting the product at %
their stage of production
Ensure that the machines are warmed up and inspected %

before production starts
Put al similar machines together into ane fine
Put al of the machines in a process in one place v
Train warkers to work on multiple units v

Actually, the elements of a JIT system are to Imprave plant layout,
reduce the setup time required for production runs, strive for zerg
defects, and develop a flexible workforce

Select each answer chaice for specific feedback.
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Just.in-time Management

To improve the plant layout for JIT, you must ensure that all machines in
a product flow linc are grouped together. This will prevent partially
completed units from being shifted from placc to place all over the factory
before completion. The machinery should be located as close to one another
as possible without creating a safety risk or interfering with the free flow of
workers and materials. Being this close together reduces the time it takes to
move the product through the flow line.

No single configuration will work with
cvery flow line. It is important to design
the structure of the lines on a
casc-by-case basis.
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| Justin-time Management

The JIT consultant for Classic Bats cxamined the floor plan of the fastory.
Click Classic Bats' Proess to view the layout. The production process gocs
as follows: take the materials from raw material storage, put them through
the planers, take the plancd wood and put it on the lathes, take the lathed
bats and put them on the polishers, and put them on the drying rack. Wastc
wood is to be put in garbage bins at cach stage. How could the consultant
organize the flow lines to increase efficiency? Click the numbers on the
graphic to learn more. Click again to make the text box disappear.
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| Justin-time Management

The JIT consultant for Classic Bats cxamined the floor plan of the fastory.
Click Classic Bats' Proess to view the layout. The production process gocs
as follows: take the materials from raw material storage, put them through
the planers, take the plancd wood and put it on the lathes, take the lathed
bats and put them on the polishers, and put them on the drying rack. Wastc
wood is to be put in garbage bins at cach stage. How could the consultant
organize the flow lines to increase efficiency? Click the numbers on the
graphic to learn more. Click again to make the text box disappear.

The problem with the floor plan
is that the machines arc not
organized to match the process.
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Just.in-time Management

The JIT consultant for Classic Bats cxamined the floor plan of the fastory.
Click Classic Bats' Proess to view the layout. The production process gocs
as follows: take the materials from raw material storage, put them through
the planers, take the plancd wood and put it on the lathes, take the lathed
bats and put them on the polishers, and put them on the drying rack. Wastc
wood is to be put in garbage bins at cach stage. How could the consultant
organize the flow lines to increase efficiency? Click the numbers on the
graphic to learn mare (el aain to make the text box disappear.

To inerease efficiency, the
machines should be sorted into
flow lincs. All of the machines
needed for a process should be
organized into a single linc to
minimize the time it takes to
transport the product from
station to station.
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The JIT consultant for Classic Bats cxamined the floor plan of the fastory.
Click Classic Bats' Proess to view the layout. The production process gocs
as follows: take the materials from raw material storage, put them through
the planers, take the plancd wood and put it on the lathes, take the lathed
bats and put them on the polishers, and put them on the drying rack. Wastc
wood is to be put in garbage bins at cach stage. How could the consultant
organize the flow lines to increase efficiency? Click the numbers on the
graphic to learn more. Click again to make the text box disappear.

The lincs should run from the
storage rooms up in the
following order: plancrs, lathes,
polishers, and the shared rack at
the far end. Garbage bins are to
be placed in between lines.
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Just.in-time Management

Reducing the setup time required for
production runs is necessary for a JIT
system to be successful. The best way
to reduce setup times, apart from
improving plant layout, is to decreasc
batch sizes. When decreasing batch
sizes, you need to condust practical
tests. These tests will indicate what siz
of bateh you need to lower production
costs while increasing or maintaining
revenues and meeting orders. Click the
graphic to learn more about reducing
setup times.

Smaller bateh sizes reduce
inventories, increasc responsc
time to market demands, reduce
eyele times, and make it casier
to spot manufacturing problems
before they result in a large
number of defective units.
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Just.in-time Management

General Agritech, a mulinational farm equipment manufacturing company,
has a tractor manufacturing facility. Currently, it takes three days to
manufacture a complete tractor. The company wants to reduce it to two
days. A consultant cxamines the company’s processes and determines that
there is litfle preparation at the stations along the flow lines beforc cach
station reccives the partially completed tractor. This results in delays as th
tractor passes from station to station. What should the company do to
improve this?

The company institutcs a policy that
requires that all cquipment and materials
be ready before the tractor comes to a
station. After studying the processes, the
company also decides to decrease batch
sizes to ensure a quicker pace.
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Which of the following activitics might contribute to improving plant layout
and reducing setup time? Seloct all that apply.

qiving the employees a lot of space in between wark units
putting the machinery as close together as possible without %
obstructing mavement
testing the flow line to ensure that the praduction process is %
efficient
ensuring that materials are ready at the first station when %
production starts

Actually, allowing too much space in between wark units slows the
production pracess

Select each answer chaice for specific feedback.
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You can implement a zero defects policy by introducing internal controls,
such as production checklists and quality checks. These ensurc that
processes are followed and that produsts mect the quality standards
cxpasted by the company. Defective units create problems in the JIT
production process because there are no replacement parts, as there is no
cxoess inventory.
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| Justin-time Management

Classic Bats wants to reduce its defect rates because the company is moving
to a lcan manufacturing approach with low inventories. Currently, the
company sees a 15% defect rate in its manufacturing lincs, What could the
company do to minimize these defects? Click the numbers on the graphic to
leam more about how Classic Bats minimized its defosts. Click again to
close the text box that appears.

The company created checklists
that cach cmployee has to
follow at cach stage of
production. The employees are
told that they will be held
accountable if a defect occurs as
the result of the cheaklist not
being followed.
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Classic Bats wants to reduce its defect rates because the company is moving
to a lcan manufacturing approach with low inventories. Currently, the
company sees a 15% defect rate in its manufacturing lincs, What could the
company do to minimize these defects? Click the numbers on the graphic to
leam more about how Classic Bats minimized its defosts. Click again to
close the text box that appears.

zero defect policy, the

to less than 3% of total
production.

As aresult of the checklists and

company's defect rate dropped
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The fourth element of JIT systems is to develop a flexible workforce. To
do this, the company requires that workers be multiskilled. Workers are
trained to operate and maintain every picce of equipment on the flow line.
This allows workers to perform whatever task arises with minimal delay.

This is in contrast to what happens on a
conventional assembly line, where
workers perform single tasks and
maintenance work is done by specialized
erews.
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| Justin-time Management

Classic Bats has four cmployees at
cach station on cvery flow linc.
Currently, the cmployess specialize in
the operation of their partioular
machine because it was thought that
this would yield the highest quality
work. There is a single threc-person
maintenance crew that services a
department. Classic Bats asked a JIT
consultant to suggest ways of
improving the utilization of the
cmployess. Click the numbers on the
graphic to learn more. Click again to
make the test box disappear.

The consultant suggested
training cach employce to do
basic maintenance on his
machines to reduce the demand
on the maintenance crew.
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| Justin-time Management

Classic Bats has four cmployees at
cach station on cvery flow linc.
Currently, the cmployess specialize in
the operation of their partioular
machine because it was thought that
this would yield the highest quality
work. There is a single threc-person
maintenance crew that services a
department. Classic Bats asked a JIT
consultant to suggest ways of
improving the utilization of the
cmployess. Click the numbers on the
graphic to learn more. Click again to
make the test box disappear. The consultant also suggested
that the employees be trained to
use the other cquipment in the
cvent that they are necded.
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Classic Bats has four cmployees at
cach station on cvery flow linc.
Currently, the cmployess specialize in
the operation of their partioular
machine because it was thought that
this would yield the highest quality
work. There is a single threc-person
maintenance crew that services a
department. Classic Bats asked a JIT
consultant to suggest ways of
improving the utilization of the
cmployess. Click the numbers on the
graphic to learn more. Click again to
make the text box disappear. As a result of the changes,
downtime was reduced
dramatically as there was less
waiting time for maintenance
crews, and units affected by
absentecism were aided by
other workers.
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| Justin-time Management

Carolyn is a manager with ASP Systems, a
climate control cquipment manufacturer.
She is in charge of instituting a JIT
management program. The company is
attempting to break the Asian market and
needs to employ new standards to remain
competitive. Carolyn is implementing the
JIT system in the whole company but is
doing the planning a step at a time. She is
starting with the automobile air conditioning
units department. Click ASP Floor Plan to
view the layout, Answer the following
questions, in order.

[Question 1 RN Queston 2
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Carolyn is looking at the floor plan found in the learning aid. What could she
do to improve the layout of the department? Seloct the best answer.

[7] She shouldn't change anything, as the floor plan is very

successful
[T She could increase the distance between the stations in the fiow
fine:
[7] She could group the machines of the same type to create better
teams

v [7] she could create three rows of machines consisting of each step in
the production process

‘Actually, putting al of the machines needed in a pracess in a single.
line increases efficiency by reducing the time It takes to move a
product from station to station

Select each answer chaice for specific feedback.
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Carolyn studicd the production processes of the department and made some
notes, which arc found in the learning aid. What could she do to improve the

cfficiency of this process? Select all that apply.

She could increase the number of parts stored in the
warehause

She cauld equip each team with complete sets of parts and
tols needed for production

She could move the machines more closely together to
minimize travel time for the product.

She could increase the number of units produced by a flow
line based on the demand.

She could reduce the number of employees on the flow
lines.

workstafion with its own toals and parts o reduce delays.

procuction

Actually, Carolyn cauld Imprave efficiency by providing each

Decreasing the space between warkstatians will also speed

Select each answer chaice for specific feedback.
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The defect ratc on the production line is 20%. What is the best way Carolyn
could improve the process contained in the leaming aid to decrease this rate?

Select all that apply.
She could offer bonuses to warkers wha report quality v
issues
She cauld train workers to feel personally respansible for %
the qualty of the product
She cauld Introduce comprehensive internal cantrols v
She cauld assign mare inspectors for each fiow line.

Actually, defects can be reduced by introducing internal contrals
and creating incentives to make qualy inspection every
employee's responsibility.

Select each answer chaice for specific feedback.
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There are hulls in productivity because of high absentccism in the company,
which causes delays. How can Carolyn reduce the delays under JIT? Seloct
the best answer.

She cauld train employees to perform mare than one task %
She cauld train employees to specialize on their machines
50 that they will be happier

She cauld hire maintenance crews dedicated to each
particular machine

She cauld offer incentives to emplayees ta show up to work
more aften

‘Actually, If emplayees are trained on more than ane task, there wil
be less downtime because they'll be able to move on to other tasks
with ease

Select each answer chaice for specific feedback.
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| Justin-time Management

Produgction
Time:

Standares,

Increase quality standards
fand decrease production time.}

By implementing JIT principles, Carolyn could decrease production time by
increasing quality standards and by spreading out the responsibility for
quality inspection. She could also make work spaces morc compact, and
cquip workers so that they can get started as soon as the work arrives.
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JIT will help your company to become more efficient and improve quality.
The four fundamentals of JIT are a tool to help your company attain its
goals.
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Managerial Accounting Approaches

You have nottaken a test for this topic.
Learning Objectives:
After complating this topic, you should be able to

identity sxamples of the steps associated with implementing the theory of

constraints.
applythe theory of constraints to a given problem.

Topic Type: Instruction with RolePlay
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Theory of Constraints

Tt would be ideal if a company could operate uninhibited and without any
production restrictions. Is there anything blocking your company from
achicving its goals?
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Address§otr
constraints.

All companies face constraints that prevent them from attaining maximum
cfficiency. The theory of constraints (TOC) addresses this problem by
focusing a company’s <fforts on identifying factors that constrain o limit its
operations. Onee a constraint is identificd, maintaining and cffectively
managing it is the key to the success of the company.

@

Hstart[|| & @ 5

s QIR (9() @) ()

| Erem...[EYskt... Eman...| GESPU x MBS ZE san

| .




[image: image95.png]SkillS~ft e R N 5

Theory of Constraints

ACE Airport Corporation owns and operates several large airports. The
company wants to increase the number of flights that ts airports can
accommaodate without having to add runways o gates. After looking at its
system, the company determined that the main constraint to increasing the
number of flights was the time ach flight spent at a gate. The company
hired air traffic consultants to examine the problem.

The consultants determined that reducing
the maximum loading time and adding
extra seeurity staff would allow the
airports to handle mor flights. Thercfore,
ACE implemented thesc changes.
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Theory of Constraints

Constraints
limit
capacity.

Constraints in production lines prevent the company from increasing its
capacity. The production process is only as strong as its weakest
component, The goal of the TOC is to increase the capasity of the
constraint. After a constraint has been reduced or climinated, the company
turns to the next greatest constraint. The TOC is a continuous improvement
process.
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Theory of Constraints

To apply the TOC to a problem, there arc four steps that you need to
follow: identify the constraint, minimize the strain on the constraint,

concentrate your improvement fforts on the constraint, and determine
whether the TOC strategy is suscessful. Click cach step to learn more.

Tdentify the weakest point in
your company's structure.
These are commonly
3. Concentrate your improvement referred to as bottlenccks.
efforts on the constraint.
4. Determine whether the TOC
strategy is successful.
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Theory of Constraints

To apply the TOC to a problem, there arc four steps that you need to
follow: identify the constraint, minimize the strain on the constraint,

concentrate your improvement fforts on the constraint, and determine
whether the TOC strategy is suscessful. Click cach step to learn more.

1. Tdentify the constraint. Take whatever steps are
2. Minimize the strain on the necessary to reduce the
constraint. speed of production to allow
3. the constraint to operate
normally.
4. Determine whether the TOC

strategy is successful.
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Theory of Constraints

To apply the TOC to a problem, there arc four steps that you need to
follow: identify the constraint, minimize the strain on the constraint,
concentrate your improvement fforts on the constraint, and determine
whether the TOC strategy is suscessful. Click cach step to learn more.

1. Tdentify the constraint. Focus all of your company's
2. Minimize the strain on the efforts on that single
constraint. constraint to ensure success.

3. Concentrate your improvement
efforts on the constraint.
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Theory of Constraints

To apply the TOC to a problem, there arc four steps that you need to
follow: identify the constraint, minimize the strain on the constraint,

concentrate your improvement fforts on the constraint, and determine
whether the TOC strategy is suscessful. Click cach step to learn more.

1. Identify the constraint. Study the outcome of the
2. Minimize the strain on the improvement efforts. If it

constraint. meets the company's goals,
3. Concentrate your improvement consider the next worst

efforts on the constraint. constraint and improve it

using the same process.
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v

s the following statement tru, or false?

When a project's weak link is discovered, it is immediately dealt with by
discarding the current approach and adopting a more cffective approach that
will produce more outputs in the same time frame.

[ true
[ false

Actually, before discarding any process, you must follow the steps
of the TOC

Select each answer chaice for specific feedback.
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Theory of Constraints

To identify a constraint, you look for the core problem or the weakest link
in your business process. To find the weakest link in your process, you
measure the output of cach component of the process, and the component
that is found to have the lowest capacity is the weakest link or the core
problem. Focusing your effort on the weakest link will bring you the biggest
benefit.

To measure the performance, a company
looks at the outputs of cach component
over the last period. The component with
the lowest performance is the weakest
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Theory of Constraints

Minimize the strain.

%

The second step in applying the TOC to a problem is minimizing the strain
on the constraint. The capacity of the organization can be no greater than
the capacity of the bottleneck. To minimize the strain on the constraint, you
measure the capacity of the constraint and limit total production in your flow
line to that output. This is donc by measuring the output capacities of the
other parts of the production process and slowing those compenents down
to cqual the capacity of the weakest link.
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Theory of Constraints

Andrew is a manager with Houschold Electric. He is cxamining the
company’s use of the TOC. Which of the following are cxamples of the
TOC in use? Selcat all that apply.

The campany allows 64 hours of time for the problem

The campany puts its engineers onto the problem v
The campany slows production to match that of the %
canstraint

The campany determines that a particular unit is
underutiized

‘Actually, slowing the production and putting the company's effarts
into a problem are examples of the TOC in Use.

Select each answer chaice for specific feedback.
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Theory of Constraints

TImprovement may mean
modifying an clement of the
process so it is more
streamlined, reducing individual
production fime and thereforc
increasing overall production.

The third step in applying the TOC to a problem is to concentrate
fmprovement efforts on the constraint. To do this, you bring all of the
available technical resources of your company together and instruct them to
Lok for ways to improve the capacity of the weakest link. Click the
numbers in the graphic to leam more. Click again to make the text box
disappear.
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Theory of Constraints

The third step in applying the TOC to a problem is to concentrate
fmprovement efforts on the constraint. To do this, you bring all of the
available technical resources of your company together and instruct them to
Lok for ways to improve the capacity of the weakest link. Click the
numbers in the graphic to leam more. Click again to make the text box
disappear.

Improvement may also mean
that cloments of the process
need more advanced equipment.
Replacing an out-of-datc part
with a more advanced part may
cost more up front, but will be
worth it if you can inerease the
capacity of a bottlencck.
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Theory of Constraints

The fourth step in applying the TOC to a problem is to determine whether
the improvement efforts are successful. You can do this by comparing the
resuls to the goals cstablished in the planning phase. If the results are cqual
to or greater than the goal, your efforts were successful, and the weakest
link will have improved to the point where it is no longer a constraint. At this
point, a new constraint must be identified and improvement cfforts will be
shifted over to the new bottlencck.

Tf the results are less than the goal, the
cfforts were unsuceessful, and the
company must continue to apply its
cfforts to the original constraint.
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| Theory of Constraints

Indratech, an industrial systems manufacturer, is implementing a TOC
program into its production process. The company gathered a team to
implement the program and to carry it out. The company has a standard of
15% improvement in production as a measurc of success. Click the terms on
the graphic to scc how Indratech applicd the TOC. Click again to make the
text box disappear.

Identify Minimize
the.
constraints.

Apply all Assess the
efforts: results.

moars [HlImAet (9 () @) (D

Hstart ||| & @ @) || Bven...| Elhe... | £on.. |[Eskit. @lman...| GBS PU MBS ZE soam




[image: image109.png]SkillS~ft

| Theory of Constraints

text box disappear.

Identify
the.
constraints.

Apply all
efforts:

Indratech, an industrial systems manufacturer, is implementing a TOC
program into its production process. The company gathered a team to
implement the program and to carry it out. The company has a standard of
15% improvement in production as a measurc of success. Click the terms on
the graphic to scc how Indratech applicd the TOC. Click again to make the

Minim

The team measured the current
working data of all processes
and determined that the weakest
link was the robotics computer.

Assess the
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| Theory of Constraints

text box disappear.

The team immediately slowed
production to the maximum
capacity of the robotics
computer.

Apply all
efforts:

Indratech, an industrial systems manufacturer, is implementing a TOC
program into its production process. The company gathered a team to
implement the program and to carry it out. The company has a standard of
15% improvement in production as a measurc of success. Click the terms on
the graphic to scc how Indratech applicd the TOC. Click again to make the

Minimize

Assess the
results.
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Theory of Constraints

Indratech, an industrial systems manufacturer, is implementing a TOC
program into its production process. The company gathered a team to
implement the program and to carry it out. The company has a standard of
15% improvement in production as a measurc of success. Click the terms on
the graphic to scc how Indratech applicd the TOC. Click again to make the
text box disappear.

Identify Minimize
the. the
constraints.

The team pulled all of the
cngineering resources away
from their current projects to
focus on improving the robotics
computer.

Apply all
efforts:
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Theory of Constraints

Indratech, an industrial systems manufacturer, is implementing a TOC
program into its production process. The company gathered a team to
implement the program and to carry it out. The company has a standard of

the graphic to scc how Indratech applicd the TOC. Click again to make the
text box disappear.

Minimize

Identify
the_

The team measured the results
of the improvements made by
the engincers. They saw a 20%
improvement, which surpassed
the 15% requirement.
Therefore, the improvement
cfforts were a success.

Assess the
results.

15% improvement in production as a measurc of success. Click the terms on
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You arc a quality manager for the clcatric oven
division of Houschold Electric. You have five
years of experience in the department. The
cxecutive team has contacted you regarding a
problem in the clectric oven manufacturing
department. The cxecutives gave you a goal of
improving the department's productivity by 15%
and expect you to employ the theory of
constraints method to improve the department's
productivity.

hohur:

2

[Enter Expiore| Enter Score
‘Mode HMode
Enter Explore Mot totry ailthe possibe options. Enter Score Mode to test you own performance.
(without being scorec)
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You put together a team to help you address th
problem. The team consists of managers,
suparvisors, and workers. You will be meeting
with Steven, your main contact and a senior
cmployes in the department. It is part of
Steven's responsibilities to update Marion, the
cxecutive in charge of quality issucs, at cach
stage of the process. You and Steven will be
reporting to Marion at the conclusion of the
process.

hohur:

2

[Enter Expiore| Enter Score
‘Mode HMode

Enter Explore Mot totry ailthe possibe options. Enter Score Mode to test you own performance.
(without being scorec)
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Theory of Constraints

"That sounds good. T'l go
get the team and we'll start
to look at this. We'll
probably be a week before
gotting back to you.”

[Jive been asked to increase productivity by 15%.
Let's just ask the emplayees to work harder.

[ ]I read some employee complaints about the
speed of the glazing unt. | say we concentrate on
that

think that we shouid recard the current data and

etermine what our weakest point in the

production process is.

Very good. To determine your constraint, you
must examine the current workings of the
process and determine the weakest link
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Theory of Constraints

<

"Good idea. That'll give us a
chance to see if our changes
to the machine work. I'll get
the rest of the tcam together
and we'll go set up in the
factory.”

et's determine the maximum number of units that
the glazing machine can handle in an hour and
redice tofal praduction to that amount

[]Let's see if we can increase the speed of the
glazing machines to match the rest of the process

[Twe can't afford to slow production. Let's find a fix
taincrease the production process in other areas

Very good. It's Important to minimize the strain
on the canstraint to be able to see the effect of
your impravement efforts
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Theory of Constraints

"That'l get the problem
solved much more quickly. I
like the way this process
works. The engincers are
waiting for me at the
factory. T'l get back to you
when we have news.”

[ 10K, you take half of the engineering team and
wark on the machines. '™ going to send the rest
outto Iook for other problens

et's get everyane working on this problem right
away.

[]1 dont want to tie up all of the company's
resources for this litle problem. Lets work on it a
while before getting those people involved

Very good. It s impartant to put all of your
efforts into fixing a canstraint
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Theory of Constraints

[T That's great.It's certainly closer to the company's
goal than | thought we could get. I'm glad this
process is over

[T] we didn't hit 15%, it must not be the right
canstraint. Let's scrap our effarts on the glazing
machine and Iook for something else.

[711 think that despite falling short of the overall goal,
the progress on the glazing machine has brought
us a long way. Let's keep it and find more
canstraints ta work on

2
"I agre. There's always

more that can be improved.
Let's go mect with Marion.”

Very good. Itis Impartant to keep your facus on
the pracess
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Theory of Constraints

"Congratulations! Your
application of TOC has
given us a great start toward
our goals. Keep up the good
work and keep finding
constraints to fix."
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| Theory of Constraints

RolePlay Summary

You explored the following learning

points:

*identifying the constraint

* minimizing the strain on the constraint

* concentrating improvement efforts on a
constraint

© assessing the strategy
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Theory of Constraints

By staying truc to the proper TOC process, you could improve the
productivity of Houschold Electric. It s important for the ongoing success of
the TOC that the process be adhered to at all times.

TOC =
Ongoing
Success
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Theory of Constraints

Apply th&TOC
and succeed!

By continually identifying constraints, minimizing the strain on the
constraints, concentrating improvement cfforts on constraints, and assessing
your attempts, you will help your company be more successful.
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